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G ‘ot an @ oAe e feeeand S

Explain three main characteristics of ‘Social Class’.

H) et & oEwr wfEm’ @ o Y T ?

What is the meaning of ‘Non-violence’ according to Gandhiji 7

(1) ‘e ® YR W TiEn’ & R Sl |

Explain the types of ‘Family on the basis of number’.

J) ‘aaem famw' F1 FEHRUn TR HIST |
Explain the concept of ‘Anuloma Marriage'.

K) WO uEem fEwmE = s N E

What is the classification of human sctions according to Pareto 7

) ‘sifaes GEEfa’ @1 SEURTT TR ETEY

Explain the concept of Material Culture’.

(M) mméaﬁfﬁﬂ?ﬁmaﬁmmm%?

What are the main tyvpes of social structure given by Talcott

Parsons ?
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(N)  EIUA. A9"ER U6 AT 9TF & SER Wi #m o 2

What is ‘caste’ according to D.N. Majumdar and T.N. Madan °

(0) ‘foar @ R’ #7152

What is ‘Affinal Kinship’ ?

(P) =gufd fgamw & @1 wim § 2

What are the causes of Polyandry ?
Q) ‘wH' & d9 W@ e FaRm |

Explain the three main dysfunctions of ‘Religion’.

Ry "HYETT @@ % YEE e fodma #ifew

Discuss the functions of ‘Bureaucracy’.

(8) ‘'AvelleRw’ ® 9Rd™ WHN W AT y9E sqEr |
Mention three impacts of ‘globalization’ on Indain socletw.

(T) . & 5ifd 97 4§ aca W § ? =awew #ifsw |

Is caste changing into class ? Discuss.
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it SEEEE 1 TG HiEe a9 Hid & mmfes SqEYE & Hed Pl

60

tgag Hiad |

Define social research and discuss the 1mportance of social research

in India.

CrvgmaTaal’ g TR WEN fafgad 0 7/
Discuss the importance of sbservation as a data collection method. How

will vou determine ‘reliability’ in observation ?
3. W“Q\;Iiémmémwwmuﬁmw | 60
Criticallv examine Dahrendorfs theory of social stratification.

Jadl

Define marriage. Discuss the impact of recent social legislations on

M1912012 19(1) .
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7

QRS Tia74 & Y@ FR&|I 1 ARA FHiA0 60

Explain the main factors of social change.

AHTq1

(Or)

e~ T ~

qgs S5= %= TETas TOUE F Al S |

Explain the social consequences of economic development.

FefefEs 1§ 4 sl o T 5% =T 200 vt § gfue frafrt ffEe © 4x15=60

Write short notes 1n about 200 words each on any four of the following :

()  FHiSier MY H IThogdl &1 Hed |
Importance of Hypothesis in Social Research.
(i) TSRO 1 WRAE AN 9 J9E |
Impact of Industrialization on Indian Society.
(iii) H=m AR Afead |

Culture and Personality.

M1912012 19(1) P.T.O.
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.

Gu)  wfAe wETen H OgH T JiEe |

Role of Religion in Modern Societies.

(L) TUTSITEE 4yl ddid - |
Sociology and Occupation.
(vi) TR ® JER |

Types of Interview.

M1912012 19(1)
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qlendl o9 FEEE g8l fag
Candidate should write his’her Roll No. here.

Fd YAl I HEA : 5 qfgd gudl i el : 8
Total No. of Questions : 5 No. of Printed Pages : 8
M1922012
HHTSTIITEA
SOCIOLOGY
fgda wv-w
Second Paper
q7d : 3 §] [quries : 300
Time : 3 Hours| | [Total Marks : 300

ghrenfeaal & o e
Instructions to the candidates :

], WYA-F A FA AT AT E | Ot WA F IW A T I FTHA F 2 H 5 Th
7 srafta fowed §
This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to o have internal choices.

0. WE-UF & Hd & 300 € a1 fAwifid wew 3 w2 ¥ | AlC FFU T <EA

¥ A ol uvE & ofF WHHE B | UYE & S 39 Wegw H fow §M anee et

T ATy Y MEeA-UF § fRar § | T o memm # faw 13 W W HR

s =9 fremm | gl ufe U & e ¥ 1 YRE-UE & HIER B WAl &R

IR FAEEE F, UE A uv @ At am & sw st w1 9 @ wy w e

S qg TF A 3 WA @ W 7A@ 9E | wen § S el @
M § foa = m=a %, gEfefes: 70 |

19(2) P.T.O.




2
The total number of marks of the question paper is 300 and the time allotted

1s 3 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, 1f the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

scientific one.

3. ¥UH I o IWE ' f9ud 20 s yvs € 1 we@E w1 W U sieen @
ofsddt & T o

The first question will be of short answer type consisting of 20 compulsory

questions. Kach one is to be answered in one or fwo lines.

ot

4. @ V= G M T IUF] A9YY U HT |

Wherever word limit has been given, it must be adhered to.

5. HIE THFH W F S YER F1 I GO J qegrnE WER F AL A, @ 9T S
fe=T aun SOt ®UR § ¥ ST TUR THE WA I
In case there is any error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.

M1922012 19(2)
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1. f“—iwfmﬁgdmg‘mﬁqm?%wﬁmlmwwwmﬁqﬁﬂ?ﬁ
q v .

20x3=60

Answer the following short answer questions. Each answer should be

In one or two lines :
(A)  "IFIE SHE’ W ey F gEIy B2
What do you understand by “Vanprastha Ashrama’ ?
(B) W @ # R qon wRedd & @ s #oaad
Mention three factors of continuity and change in Indian society.
(C)  uH =T uftar &fay
Give the definition of ‘Dharma’.
D) wNd TE g o oy 2
Why is caste a closed class ?
(E) %ﬁmwmﬂmm% | FOF wifSE |
Hindu marriage is a sacrament. Describe.

(F) 9Rd # SASTAE JE=<0Y & 49 SR @ fofgy |

Write three factors of tribal unrest in India.

M1922012 19(2) P.T.O.
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(G) Yad 3= & 3evd Fdred |

Write the aims of Bhoodan Movement.

(H) 9% § Fush 1 & a0 S0 FE Faq™ &0, dfeh T sitad-3al

T | W2 HINE |

Agriculture for Agrarian Societies in India 1s not an occupation,

but it is a life style. Describe.

() =9 YT k1 FH W GUdG |

Impact of market economy on Agriculture.

(J)  ‘gyras gty &t ufiamen s
Give definition of ‘Circulation of Elites’.
(K) fouH ¥ dgdl ATHssl & &Rl &) fafed |

Write the causes of increasing suicides among farmers.

(L) §3% 9fEr & ¥l &l fafad |

Write the tvpes of joint family.

(M) foen & etfusr stfufram, 2000 @ € %8 wy@ foRioad adEd |

Express some salient features of Right to Education Act, 2009.

M1922012 19(2)
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(N)  “‘U9n AR Fad UIT @ SMa-vuen i 39 % fau 3t § O fedd
F8 8 7
“Occupation and only occupation is responsible for the origin of Caste

system.” Who said 7

(O) YdaEg 99 3 IS 97 & YRR |

Kinds of Elites with Indian reference.

(P) U fugaarcds URER &l =9 Fdgd |

Elaborate the structure of a Patriarchal family.

Q) T3 sfefdare =1 ¥ ?

What 1s Gotra Exogamy ?

(R) wrifer wfqefieral =i Qe |
Definition of Social Mobility.
(S) fomTe =il A FN ¥ 2
What is Affinal Kinship ?
Tr = g (Fey iR faw) wrF fea 94 7 wifta g3 o ?

In which year was the Child Labour (Prohibition and Regulation Act)
passed ?

M1922012 19(2) P.T.O.
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28 TELAH § Y M GHAd § 7 TH YW INHHl ] YN &9 SdrET Tl
g 7 60
What do you mean by Grahasthashram ? Why is it said to be the basis of
all Ashramas ?

AHAd(

(Or)

O&FTA 9Rd H SIfd &l qfaed &1 fFAuior wifse |

Determine the role of caste in Contemporary India.

3. qd H fad 1 ¥Rl H SERIAIU & G -3 Y9El & 9uF $ifsT | 60

Describe the socio-economic impacts of liberalization in India in the last

two decades.

AT

(Or)

T HSHd & YRAd 99N T US4 a9 Y9E W@ 8 2 geHian s |

What have been the impacts of western culture on Indian society ?

Examine.

M1922012 19(2)
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4. NRAE AfguE & {69 g@Eue & sarid sgfad sHentd w1 fuior fEar s

€ 7 e Hifau | | &0
Under what provisions of Indian Constitution the Scheduled Tribe is
determined ? Discuss.

A4

(Or)

Tdlel o §fas 59 @ € 7 $9e] gfiadTvied W Us froh sfsu
What 1s Agrarian Social Structure ? Write a note on its changeability.

5. Tm=fafes 4 ¥ 5 9w W, &% W a09m 200 v A, giyw frogforgt

fafay . ' - 15x4=60
Write short notes in about 200 words each on anj four of the following
7 YA ¥ Waedl Wifd % qd gU @ WHN-gUR ST<lad |

T'wo Social Reform Movements in India before its independence.
(i) @ 3 fafy=ar 4 TEHa &t efaeifasear |

Historicity of unity in diversity in India.

M1922012 19(2) P.T.O.



(i) od B &edl Al |
Increasing urbanization in India.
(v) foury faamw afafay, 1954

Special Marriage Act, 1954.

()  JGAl FT IThelldT |

Loneliness of Aged Persons.

(vi) T&g faam® & w&R |

Types of Hindu Marriage.

M1922012 19(2)
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Tl 379 ST e FEl fod
Candidate should write his/her Roll No. here.

&ﬁﬁﬁlﬁwz5 gfsd gs3l 1 WEAT : 8
Total No. of Questions : 5 No. of Printed Pages : 8
M1912012
HATSIITHA
SOCIOLOGY
WAH GI1-UA
First Paper
qHg ;3 97] [quiis @ 300
Time : 3 Hours] [Total Marks : 300

girenferat & fog oo -

Instructions to the candidates

1.

T AT A FA A WA € | A U9 H SW ST € | YA . 2 ¥ 5 dF
T arafie faweg T

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 8§ have an internal choice.

YA-T3 & % % 300 ¥ aur FHuifie 999 3 w2 § | 3fe 3w 7§ <wian ™
T T WYH B 3TF GEE £ | WA & S 341 megm # fom W e e
T9= YR HAUH AOEH-UA H fea T 4 fEE w=m megw ¥ A T8 I W FE
5= FE Her | @Y ure WY & dHad T ¥YE-UF & 3 ER @ 9 &
T FE-=T 2, TF 8 Y & fafi= vy & =7 w999 ¥9 9 Us 9Y © faw

]

~

- - _ i ) ~— - - -~ s N
4 A9 3= s 3 WY ® I 3 g WE 1 T0e B WM hdgael @l
I H T T F=4 T FIT=EEw SR

19(1) P.T.O.




%
The total number of marks of the question paper is 300 and the time allotted
‘s 8 hours. All questions carry equal marks, unless specifically stated
stherwise. Answers should be written ‘1 the medium which you have chosen
in your Application Form. No marks will be awarded, 1t the answer 1s written
in any other medium. All the five questions must be answered. Questions
<hould be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted

hetween them. Regular calculator alone can be used in the exam. not the

scientific one.

qer wed o Sadd g fed 20 SfEEE 9 3 | g 1 I U@ S &
gfedi | <A1 B
The first question will be of <hort answer type consisting of 20 compulsory

questions. Each one i< to be answered In one or two lines.

= -~ - "L

- = — R — a ‘
HAZ] Tlen HIHD <7 fiz 7 I E oo I SR I a%i I

Wherever word limit has been given, it must be adhered to.

gf fadt v d f&d umﬂ'&ﬁaﬁéwmawmaﬁgﬁﬁﬁwﬁ
foef Qe 3T EU@ B = U TG HAE A i

In case there is anyv error of printing or factual nature, then out of the Hind1
and English versions ot the question, the English version will be treated as

standard.

M1912012 19(1)



3

L
'

1. FeTAEd Yoddh oY 3UUd 999 &1 3u 1 W 2 diead " d1feT : 20x3=60

Answer the following short answer type questions in one or two lines

each :

(A)  TH. et & U JUEYIEE F1 S T R i SATEI] HaT |

Explain the definition of Sociology given by M. Ginsberg.

(B) X IR T & Fq9R GEENTE F1 fawa-ag & § ?

What 1s the subject matter of Sociology according to Reuter and

Hart ?

Cr 'IUFeTH’ '@l & faouT e |

Explain the sources of ‘Hypothesis'

D e Ese Fm AR Y@ fauied edEu |

Explain three main characteristics of questionnaire.

(E) ‘'Ig-9gYr &’ ¥ {9 o 993d 8 7

e

What do you mean by ‘Quasi-Participant Observation 7
(F) ‘wEnSe R’ &1 gRyfed Sifse |

Define social stratification.

M1912012 19(1) P.T.O.
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